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termine whether each sequences is an arithmetic sequence.
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Find The néxt three terms of each arithmetic sequence. ‘
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Determine the explicit formula and find the term indicated.
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*10.  An arithmetic sequence has a common difference of —4 and its 37" term is 10. Fmd1he first
term. - _
| d=-4 | a&ﬂ \0 =\<H i

0=0, -4 (211
10 = a, -4 (20)

lO 0(& - "l\‘"\

*11. How many totalterms are there in the fo!|owmg sequence? (challenge)
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%13, Write an equation in terms of y and x fo represent the sequence 4,8,12, ...
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Explicit Formula: IUNERETIN

(Hint: Use the arithmetic sequence formula, then replace an with y and n with x].

a4 d=Y

B = Un

Siope intercept form of equation: U= 4}5

14,

Zariah's 100 meter dash times for her first four races were 14 seconds, 13.4 seconds,
12.8 seconds, and 12.2 seconds. N .
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i) Assuming race times will decrease at the same raie. Wiite an equation for the

arithmetic sequence (Hint: find a, and d first.) :
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il What will the fime for her 121 race be?
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i) When will she have a time of 11 seconds for the 100 meter dash?
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